Log10 Signal

Bait: Gyszintron Tiss: Liver Geno: WT

500

1.0+
0.5+
0.0-

1500

1.0+
0.5+

et o dude

o

0.0

o o r
o v o
1

5000

1.0+
0.5+

0.0

10000

1.0+
0.5+

il . .

0.0

_1e+05 _5e+04
Rel. Position [kb]

time — ZT08 — ZT20

0e+00



Bait: Gys2intron Tiss: Liver Geno: WT

500

0.4+
0.0
-0.4-

1500

I

© o 9

o »
1 1

L eand o meude e )

2500

I

© o ©

> o »
1 1

5000

Difference in Log10 signal (ZT20 — ZT08)

|

© o ©

> o »
1 1

10000

0.4+

0.0
-0.4+

—1el+05 —5el+04
Rel. Position [kb]

0e+00



Zscore

Bait: Gys2intron Tiss: Liver Geno: WT

500

10+
5-

_10-

1500

adaation
TP P e

2500

0 TP
_5-
_10-

5000

10000

-1e+05

—5e+04 0e+00
Rel. Position [kb]



Bait: Gys2intron Tiss: Liver Geno: WT

500

20 -
10-

_10 -
_20 -

1500

20 -
10-

_10 -
_20 -

2500

N = =N
[oNeoleNeNe]
(| [

—-log10(Pvalue)

5000

20 -
10~

_10 -
_20 -

10000

20 -
10~

_10 -
_20 -

I

—1el+05 —5el+04
Rel. Position [kb]

0e-+00




—-log10(Pvalue)

Bait: Gys2intron Tiss: Liver Geno: WT

500 1500 2500
20-
(<]
15+
()
10-
(<]
5 & . %g
) 0' ¢ » e
(<] (<]
0- it LV 4 f
5000 10000
()
(<]

20 -
15+
10 -

5- R e

o- v

-04 0.0 0.4 -0.4 0.0 0.4

Delta (ZT20-ZT08)




